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NEW QUESTION 1
Which three can be used by a Horizon administrator who wants to provision an application to users’ desktops? (Choose three.)

A. VMware App Volumes Application Package
B. VMware Horizon Published Application
C. VMware Thinapp
D. VMware Dynamic Environment Manager
E. VMware App Volumes Writable Volume

Answer: ABD

NEW QUESTION 2
A Horizon administrator is tasked with creating a new pool of desktops with hardware-accelerated graphics with vMotion support.
Which graphic acceleration types can the administrator choose to meet the requirement?

A. Virtual Shared Direct 3D
B. Virtual Shared 3D rendering
C. Virtual Dedicated Graphics Acceleration
D. Virtual Shared Pass-through Graphics Acceleration

Answer: C

NEW QUESTION 3
Where can an administrator find the VDI machines in the Horizon LDAP?

A. OU=VDI
B. OU=Desktops
C. OU=Servers
D. OU=Machines

Answer: C

NEW QUESTION 4
Refer to the exhibit.

An administrator configures a CA certificate for the Connection Server. However, they are still encountering certificate warnings when trying to connect to the
Connection Server. The exhibit displays the properties of the CA-Signed certificate.
Referring to the exhibit and using the alpha-character indicator, which image shows the root cause of the issue?

A. D
B. C
C. A
D. B

Answer: D

NEW QUESTION 5
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Which of the following statements are true about Application Profiler?

A. VMware Dynamic Environment Manager Agent and the Application Profiler cannot be installed on the same machine.
B. Application Profiler is installed using VMware Dynamic Environment Manager Enterprise Setup Wizard and explicitly selecting local drive installation.
C. Application Profiler is installed automatically when installing VMware Dynamic Environment Manager FlexEngine.
D. Application Profiler is installed automatically when installing Dynamic Environment Manager Management Console.

Answer: B

NEW QUESTION 6
Drag and drop the high-level configuration steps for smart card authentication on the left into the correct sequential order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 7
An administrator needs to monitor Connection Server health by using a http request. Which command is the correct command to use?

A. GET https://<connectionserver>:22443/favicon.ico
B. GET https://<connectionserver>:9443/favicon.ico
C. GET https://<connectionserver>:443/favicon.ico
D. GET https://<connectionserver>:4172/favicon.ico

Answer: C

NEW QUESTION 8
What are two Cloud Pod Architecture feature limitations? (Choose two.)

A. Kiosk mode clients are not supported unless a workaround has been implemented.
B. Cloud Pod Architecture does not support Active Directory two-way trusts between domains.
C. Cloud Pod Architecture cannot span multiple sites and data centers simultaneously.
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D. Cloud Pod Architecture is not supported with Unified Access Gateway appliances.
E. The Cloud Pod Architecture feature is not supported in an IPv6 environment.

Answer: AE

NEW QUESTION 9
Which storage product allows the pooling of resources to create datastores in a Software Defined Datacenter?

A. VMware VMFS
B. VMware vSAN
C. VMware Storage I/O Control
D. VMware HCI Mesh

Answer: B

NEW QUESTION 10
A company that is currently using VMware Horizon with instant-clones is researching the possibility of using VMware Horizon Cloud on Azure.
What deployment option is available for Horizon on Azure?

A. Horizon Cloud on Azure with instant-clones
B. Horizon Cloud on Azure with full-clones
C. Horizon Cloud on Azure with Azure clones
D. Horizon Cloud on Azure with WVD

Answer: B

Explanation: 
There is no such thing as instant clones in Azure. All clones are full clones. The speed with which clones are created depends on the type of disk you select.

NEW QUESTION 10
Which two scenarios are appropriate for a Cloud implementation of a VDI solution over an on-premises solution? (Choose two.)

A. The organization already has infrastructure to support a VDI.
B. The organization needs to setup high availability and disaster recovery.
C. The organization controls highly confidential data.
D. The organization has limited CapEx budget.
E. The organization needs to quickly scale-up in disparate geographical locations.

Answer: DE

NEW QUESTION 13
Which two built-in apps are supported and automatically added to the profile of a multi-app kiosk profile? (Choose two.)

A. Calculator
B. Microsoft Word
C. Microsoft Edge
D. Camera
E. Sticky Notes

Answer: AE

NEW QUESTION 18
An administrator is tasked with allowing managers to request desktops and changes to desktops for their employees.
What VMware solution can be used to meet this requirement?

A. vRealize Operations
B. Horizon Automated Pools
C. vRealize Automation
D. Horizon Help Desk

Answer: B

NEW QUESTION 20
The virtualization of physical resources after installation of a hypervisor follows a specific procedure. Drag and drop the procedural steps on the left into the correct
sequential order on the right.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 24
Which two steps must be completed in order to expand a writable volume? (Choose two.)

A. Select Volumes > Writables > Select Volume > Expand.
B. Modify the snapvol.cfg to reflect the new size.
C. Select Volumes > Writables > Select Volume > Update Writable.
D. Specify a size which is at least 1MB larger than the current size of the volume.
E. Specify a size which is at least 1GB larger than the current size of the volume.

Answer: AE

NEW QUESTION 28
Which Horizon feature provides high availability desktops across datacenters?

A. Cloud Pod Architecture
B. vCenter Linked Mode
C. Instant-Clones
D. Replica Connection Servers

Answer: D

NEW QUESTION 29
An administrator notices that a cloud pod is not in the correct site. What can be done to solve this issue?

A. Under Settings > Cloud Pod Architecture, select the pod and change the name of the site.
B. Under Settings > sites, select the site, and select move pod to this site.
C. Under Settings > Cloud Pod Architecture, select the pod, click edit and select the correct site.
D. Under Settings > sites, select the pod, click edit, and select the correct site from the menu.
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Answer: D

NEW QUESTION 33
A new Horizon environment has gone into production. External sessions are being disconnected after a random period of time.
The following information has been documented by the administrator: Internal and external users are able to connect to their desktops.
External sessions connect via a Unified Access Gateway.
Users are immediately able to reconnect but will be disconnected again in a few minutes. Internal sessions, connected directly to the desktops, are not impacted.
While the session remains connected, all expected functionality works properly. What could be a cause of this issue?

A. A misconfigured network load balancer is in front of the Unified Access Gateway appliances.
B. A misconfigured network load balancer is in front of the Connection Servers.
C. Required firewall ports are not open in front of the Connection Servers.
D. Required firewall ports are not open in front of the Unified Access Gateway appliances.

Answer: C

NEW QUESTION 34
An administrator is tasked with reinstalling a Connection Server replica that has failed to boot.
Drag and drop the procedural steps on the left into the correct order on the right to add the replica back to the Horizon pod with the same name.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 36
Which two client types have the lowest cost of ownership and are easier to manage deployments, firmware updates, and monitor. (Choose two.)

A. Headless Clients
B. Windows 10 Clients
C. Zero Clients
D. Thin Clients
E. MacOS Clients

Answer: CD

NEW QUESTION 41
A Horizon administrator does not see the health status for the Unified Access Gateways (UAG) they configured in the Horizon Console.
What two options could be causing the issue? (Choose two.)
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A. The firewall hasn’t been configured properly to allow traffic on port 443.
B. The pod needs to be added to the Cloud Pod Federation.
C. The Connection Server needs to be rebooted.
D. Another license is needed for UAG health overview.
E. The name entered in the Horizon console doesn’t match up with the system name in UAG.

Answer: CE

NEW QUESTION 46
Refer to the exhibit.

Which command is run to produce the output shown in the exhibit?

A. C:\Program Files\VMware\VMware Horizon Agent\DCT\support.bat loglevels
B. C:\Program Files\VMware\VMware Horizon Agent\DCT\support.bat setlogs
C. C:\Program Files\VMware\VMware View\Agent\DCT\support.bat loglevels
D. C:\Program Files\VMware\VMware View\Agent\DCT\support.bat setlogs

Answer: A

NEW QUESTION 51
Drag and drop the TLS Configuration steps on the left into the correct sequential order on the right.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
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NEW QUESTION 53
Which can be used to make sure only certain Connection Servers are used for a Global Entitlement?

A. Category Folders
B. Home sites
C. Tags
D. Access Groups

Answer: D

NEW QUESTION 56
......
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